K0345_J
LIAHEIO| 21 E7HX|7} gl= 28 =2 2H| Qg A oIHA S/IX I‘.‘-I“I‘

=5 4Y/HIE o[0ix|

|>

oY

THE!:

AEB{H:

2 E Est Xl

4 52 5.8.

AEQIBIA AE! H{A:

&= E Fs ®Mal:

LIAF £ 22 1.4305.

2 El 1.4034.

HIZE, SRR 2tZ

LIAI £ 2[5 1.4305.

A2 El1.4305.

M o2

AEH{T:

&= ' Fst, odob, 24 A3t %2
AEQIFA AE! H{A:

M2 E Fs odor A E-da

HZE Zs odot W =S¥ IR S
e,

QlHlA ZRHX] £ ™ o o8t &2 k|2
HZAS WX|5HoF 5= 2ol AFEE

HH EEE # 2 CIE &2 9zx=
Ol & &+ /US.

=SZF LIAF Elof S+ O2l8 HatE
ANZ. 2 2|, Y AZHE 0|835t0 2

°
EE o| X|-E Xl‘E(_u_Ej_EH X-||O-|)0|
7tsstAHLE #Alolgo ofsh & &S 7HsELICH
23z EEE X072 237 2 AME

[= =]

Z2Y + U LAt 22IE0) 0|8 £
75 Hol 2oz M|z &

28 Al

S5 A7 uiH

MMM E]:
A 0|M & K0665

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



K0345_J

°
— — —_ _ —
LEIALEIO| Q131 E-HX|J} Q= A B =2 AH|QlE|A OIHA E/
=M
D2
A
~J .
A I
T
= -~
Y
' w
D-O,GZ
-0,04
D1
e
Zs 29
FEHs  EY =& A EH D D1 D2 L L1L2 AEE3 Fx30° AlE et FEHS
7|18 = S Er ER2 A3 57 22t
F12E N F22.N
K0345.1903 J AE FZED 3 M6x0,75 M2 241735 35 0,8 45 10 K0344.99
K0345.1004 J AE Zs 4 M8x1 M3 3221 7 4 1 6 12 K0344.90
K0345.1105 J AE PEE 5 M10x1 M4 3724 8 5 1,3 5 12 K0344.91
K0345.1206 J AE Z#st 6 M12x1,5 M6 4228 8 6 1,8 6 14 K0344.92
K0345.1308 J AE A5t 8 M16x1,5 M8 56 36 12 8 2,3 15 35 K0344.93
K0345.1410 J AE Z3 10 M20x1,5 M8 6240 12 10 2,8 15 34 K0344.94
K0345.1412 J AE A3 12 M20x1,5 M8 6642 12 12 2,8 15 39 K0344.94
K0345.1516 J AE Zs 16 M24x2 M10 80 50 14 16 3,2 20 46 K0344.95
K0345.01903 J  AHIQIEA AE PEE 3 M6x0,75 M2 241735 35 0,8 45 10 K0344.99
K0345.01004 J  AHIQIEA AR Ast 4 M8x1 M3 3221 7 4 1 6 12 K0344.90
K0345.01105 J  AHIQIEA AE A5t 5 M10x1 M4 3724 8 5 1,3 5 12 K0344.91
K0345.01206 J  AHIQEA AE PEEN 6 M12x1,5 M6 4228 8 6 1,8 6 14 K0344.92
K0345.01308 J  AEQIEA A&l A5t 8 M16x1,5 M8 5636 12 8 2,3 15 35 K0344.93
K0345.01410 J AEQA A&l Zs 10 M20x1,5 M8 6240 12 10 2,8 15 34 K0344.94
K0345.01412 J  AH|IQEA AE #3812 M20x1,5 M8 66 42 12 12 2,8 15 39 K0344.94
K0345.01516 J  AEQIEA A&l A8 16 M24x2 M10 80 50 14 16 3,2 20 46 K0344.95
K0345.11903 J  AEQIEA AEl HIZA8 3 M6x0,75 M2 241735 35 0,8 45 10 K0344.99
K0345.11004 J  AEIQIEA AE HIZA8 4 M8x1 M3 3221 7 4 1 6 12 K0344.90
K0345.11105 J  AHIQIEA AE HIZEE 5 M10x1 M4 3724 8 5 1,3 5 12 K0344.91
K0345.11206 J AE(QIEA AEl HIZS 6 M12x1,5 M6 4228 8 6 1,8 6 14 K0344.92
K0345.11308 J  AEQIEA AEl HIZ8 8 M16x1,5 M8 56 36 12 8 2,3 15 35 K0344.93
K0345.11410 J  AHIQIEA AE HIZd& 10 M20x1,5 M8 6240 12 10 2,8 15 34 K0344.94
K0345.11412 J  AEQEA A&l HIZS 12 M20x1,5 M8 6642 12 12 2,8 15 39 K0344.94
K0345.11516 J  2AEQIEA AEl HIZ8 16 M24x2 M10 80 50 14 16 32 20 46 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



K0345_J

LIAFEIO] 2131

HH
Jn
)
12

© HEINRICH KIPP WERK GmbH & Co. KG

BHXI7t gl=

www.kipp.com - info@kipp.com

3/3



